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Gravitation is the auractive force that all masses exert
on other masses. 18 increates a8 the mastes of the attracting
ebjeesy incrense Howsver, when largs sun explode or
undergo rapad changes ie motion, gravitational radiation is

Since the energy in traveling gravitational waves is so
low, x very lang antenna is needed 1o deisel them. Lasers
will be uied to deicet the changes in distance betwsen
locations in an L-shaped antenna, as shown below. Detec-

mitted. tational sadi am it ticn of gravitational waves will be possitle because as they
:m.‘m— at (h’:n . r",; J;d{’gll,o;‘n“;:““:“::,r' I pass through the antenna, the lengthe of the wnnels will
P roush b frec) ut ripp change by dilferen: amausts.
waves traveling theough the otherwise smoarh gravitational

field of space. Thin a similar in concept 1o the way water
waves Lravel along the otherwise smooth liguid surface.

However, pravitational waves are spesial because as they
Fass, they cause matter 1o diston as shawn below.

tunnels
-~
passing gravitationsl /
wave T
and
lases

Bzcause this antenna is not a vibrating eylinder, it will
1,000 &5 more sensitive than Physicist 1 antennas.
tike water waves, different gravitational waves
hevs differert wavelengths. Physic
antennas can only defect gravil
few specific wavelengihs, The ante il e able 1o detect
gravittional waves with & wide range of wavelengihs.

O

undistarted ring of matser distorted ring of metter

15 vibrating eyinder

Since pravitational weves are extremely weak and
therefore hard 1o detect, two physicists discuss allernative
methnds of devessing them,

DL According 1o P)nx.cm 2. Physicist I's amenna is
inaffective because |l
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